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Chapter 3 

𝑓(𝑥) = 𝑝(1 − 𝑝)𝑥−1;   𝑥 = 1,2, … …;   𝜇 = 1/𝑝;   𝜎2 = (1 − 𝑝)/𝑝2 

𝑓(𝑥) =
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)(
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)

(
𝑁
𝑛

)
;   𝑥 = max{0, 𝑛 + 𝐾 − 𝑁} to min{𝐾, 𝑛}; 𝜇 = 𝑛𝑝;   𝜎2 = 𝑛𝑝(1 − 𝑝)
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𝑓(𝑥) =
𝑒−𝜆𝑡(𝜆𝑡)𝑥

𝑥!
;   𝑥 = 0,1, … …; 𝜇 = 𝜆𝑡;   𝜎2 = 𝜆𝑡 

 

Chapter 4 

𝐹(𝑏) = 𝑃(𝑋 ≤ 𝑏) = ∫ 𝑓(𝑥)
𝑏

−∞
𝑑𝑥    and    𝑃(𝑎 < 𝑋 < 𝑏) = ∫ 𝑓(𝑥)

𝑏

𝑎
𝑑𝑥 = 𝐹(𝑏) − 𝐹(𝑎) 

𝜇 = 𝐸(𝑋) = ∫ 𝑥𝑓(𝑥)
∞

−∞
𝑑𝑥;      𝐸(𝑋2) = ∫ 𝑥2𝑓(𝑥)

∞

−∞
𝑑𝑥    and    𝜎2 = 𝐸(𝑋 − 𝜇)2 = 𝐸(𝑋2) − 𝜇2 

𝑓(𝑥) =
1

𝑥𝑛−𝑥1
;   𝑥1 ≤ 𝑥 ≤ 𝑥𝑛;   𝜇 =

𝑥𝑛+𝑥1

2
;   𝜎2 =

(𝑥𝑛−𝑥1)2

12
 

𝑓(𝑥) = 𝜆𝑒−𝜆𝑥;    𝑥 > 0;    𝜇 =
1

𝜆
;    𝜎2 =

1

𝜆2
 

𝑋~𝑁(𝜇, 𝜎2);   𝑍 =
𝑋−𝜇

𝜎
~𝑁(0,1);   𝑍 =

𝑋̅−𝜇

𝜎
√𝑛⁄

~𝑁(0,1) 

 

Chapter 6 
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Chapter 7 

2 2~ ( , ) ~ (0,1); ~ ( , / ) ~ (0,1)
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